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OLPI-002 : POULTRY FEEDS AND FEEDING 
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Note : Attempt any five questions only. All questions carry 

equal marks. 

1. Match Column A with Column B. 	10x1=10 
Column A 	 Column B 

(a) Fish Meal 	 (i) 	Curled Toe 
Paralysis 

(b) Maize 	 (ii) Dryness of eyes 
(c) Ad libitum feeding 	(iii) Common 

vegetable protein 
sources 

(d) Phase feeding 	(iv) Fungal Toxin 
(e) Aflatoxin 	 (v) Common Energy 

Sources 
(f) Benzene Hexachloride (vi) Broilers 

(BHC) 
(g) Calcium 	 (vii) Micro minerals 
(h) Iodine 	 (viii) Common Animal 

Protein Sources 

(i) Vitamin A 	 (ix) Layers 

(j) Vitamin B2 (Riboflavin) (x) Macro minerals 

(xi) Pesticide 
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2. 	Explain any five of the following : 
(a) Ad libitum Feeding 
(b) Balanced Ration 
(c) Feed Additives 
(d) Phase Feeding 
(e) Popping 
(f) Feed Conversion Ratio (FCR) in Broilers 
(g) Aflatoxins 

5x2=10 

	

3. 	Give any two examples for each category of feed 
stuff given below : 	 5x2=10 

(a) Unconventional Energy Sources 
(b) Common Vegetable Protein Sources 
(c) Unconventional Animal Protein Sources 
(d) Common Energy Sources 
(e) Feed Additives 

	

4. 	Write short notes on any two : 	 2x5=10 
(a) Advantages of pelleting 
(b) Points to be considered for formulation of 

diet/ration 
(c) Probiotics 

	

5. 	What is feed processing ? What are its 10 
advantages ? List out different cold and hot 
processing methods. 

	

6. 	Explain in detail the storage of feedstuffs. 	10 

	

7. 	Write short notes on any two : 
	 2x5=10 

(a) Different forms of poultry feed 
(b) Feeding of birds during cold weather 
(c) Methods of restricted feeding 
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8. 	(a) A feed mixture containing 20% crude 
protein to be prepared using Sorghum 
(CP=11%) and Groundnut Cake 
(CP = 40%). Calculate the amount (parts) 
required from Sorghum and Groundnut 
Cake by Pearson square method. 

(b) Calculate the following : 

(i) Feed Efficiency (Egg Mass /Feed) 	2.5 

Assumptions : 

Feed consumed =4 kg 

No. of kg eggs produced =1.5 

(ii) Feed Conversion Ratio (FCR) 
	

2.5 

Assumptions : 

Feed consumed = 2.7 kg 

Body weight gain =1.8 kg 

5 
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1. 	chiog 	--T cnicii-i 731.  74 fgrdT9- --1-f7R I 

(*Jog 'W 	 etaciii "gt 	10x1=10 

(a) frfiT Hld 	 (i) 	Li,l- -43T*7 cdchar 

(.,vi•it 

(b) q 	 (ii) aft '1 Tcht-li 

(c) 7-1-0-4 (174-e) gilt 	(iii) km.41.-4 c4.-R.LiFci tati 

R5c11-11  

(d) f94:5I Tfr4T-2.E14 qt-if 	(iv) 4,11c1 zfcf+1-1 

(grill' 

(e) 4Kile:IF.R-1,-,Li 	 (v) 	.-i14-ii-4 ,i.),4i #rd 

(f) *9-F-Ti ci-Hicr-c-i 	(vi) 9iNc1( 

(1.-cr t) 

(g) 4)1cW-11-1 	 (vii) T-TrUF-977-  

(h) alizr'rft7 	 (viii) k-114-11•4 Lrita-17131-1-a.  

(i) Foidifl-i-i 7 	 (ix) 	r -T.R 

(l) 	cldl 1-1 -1 B2 ( (.1 	'1-1) 	(x) 	IT-q oF-Nick-cr 

(xi) Lilsch-iRil 
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2. rch..e.e/fW TctE 	: 	 5x2=10 

(a) IWIZ 	-cr,S,11 .11()  	III `t~iCll~ll 

(b)  

(c)  

(d) f4rTIra-T( 14 	tf7T91 

(e) triftT 

(f) '417dt 14 	(,41cRui 391:0 (771# 3-T17) 

(g) t;4(11d1 chtil 

3. 	 TrR qfrit 	 kit  	t- 
dciur clr\TR : 	 5x2=10 

(a) 3-71#7117 	 

(b) t-11 4-11 -0-4 a -R-4 cf Iftftff 	cf 

(c) 3111-#17P7 	31Yff 

(d) )s.11 	cf 

(e) 	7:07 

4. 	 T'T-Tiff 	 f-of-gr : 	 2x5=10 

(a) -4---ft1T 

(b) aTTUT 	fa 7TT f*-7 ,311 	c f4s 

(c) i1,414411-da+1 

5. 	 5R-R-chtulWt? 	7fIT cI t? few qild 10 
-aT 	 w5rTR I  

6. 	 itW7T 	tirci*-cilt 	 I 	 10 
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7. 	 TiWf 	fF§37 
	

2x5=10 

(a) T4TZ qi;*ffif-iM Mc* 	1t 

(b) TfW* 	trfwg 31717 

(c) 31--doTh-ff -Pao-A rartrza 

	

8. 	(a)TrITTri4 (ft t=ii%) 31 	Ohl -{(41 	5  
(141. 1ft = 40% ) 	37117 -4 20% altift 	bcp 1 

qI-11 	f*41' AI-11 I fcrzrth 

*z:17 (Wf) FIN 3FOr *Trrt 3117 ltricFe 

ch111—dl. 	aTrq7z1T 	 ( 'ITO) 	Lirtcbrcicf 

SRI 

(b) 	 1-Irtcbrcid 	: 

(i) 	4111 WIT (34 	q0I4-1I-1/q1-II) 	2.5 

3MI1PI1TI : 

WPSWI q111=4 fT.T. 

3741f Td 	3T 4tsq1 =1.5 

'cNLIIcRuf 3-TTITU( Wt.) 	347) 	2.5 

araunvul : 
ztrcpr 81-ii=2.7 

117 	=1.8 fT.131. 
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